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Answers are circled in Red Colour PAPER - II
SECRETARIAL ABILITIES
1. Walkingatinf hernormal speed, Anjalitakes (3. Anil can complete a work in 15 days by
. 6 working 8 hours per day. Sanjay can
20 minutes more to reach her office from complete the same work in 25 days by
home. What is the usual time taken by her to waorking 6 hours per day. If both of them work
cover the distance between her home and together 8 hours each per day, in how many
office ? days the work will be completed ?
(1) 44 min. (2) 90 min. (1) ?;—% days (2) E%% days
(3) 120 min. (4) 100 min. 11 11
' , (3) 635 days 4) 735 days
Srsrenr 63 oS 2§ Sodk i @ 7o day
6 ©AS 2rdh 8 fotre TS BT 2.¥
Jod SAR 002, 303 Hos ebhins DAV 15 T’ 0 Tk, oF 522
SETRE 20 Daren IS HAS08, Pozod Gk 6 fote Tad HATH
Ff p . r;; e 25 BS r0 Ty, FOSGr Sk
GORO™ &% 308 Hod P 9 HOL® TS OB HITD © 1D
ITEDE D0 DAADO Hebebod ? FESTRE D) Baren He0d ?
(1) 44 dren  (2) 90 Dvaren (1) 732 Bren  (2) 635 Saren
3) 120 Qar 100 Qa1
) = . R (@) 63 Een ?% Seen
2.  Train Aleaves Secunderabad station at6 AM  |4. A and B can complete a work in 60 days, B
with a speed of 60 kmph towards and C GH?MWEPHE it in Er?c daﬁha and IA
. can complete the same work in ays. In
Visakhapatnam. Another Train B leaves how many days, B alone can do that work 7
Secunderabad station at 8 AM with a speed = D en 2.8 HAD 60 B’ 50 Tarch.
of 80 kmph towards Visakhapatnam. How ®©f HA D, B en 80 FaeS R, @ en
many kilometres from Visakhapatnam will 120 &2’ Jy8 DS, @ HAY D .48
trains cross each other, if the distance D) Oard30 Tarch ?
between Secunderabad and Visakhapatnam (1) -84 % (3 90 (4 92
is 600 km ? 5.  Three pipes A, B and C are available to fill a
(1) 240 km (2) 375km tank. The time taken to fill the tank by A Is 15
hours and by B is 10 hours. The time taken to
(3) 225km (4) 360 km fil the tank by both A and B together is equal
O ®3 DBen &Saho & Hobes to the time required for C to fill it. How much
oS DAS wod DDy D g?;:;smrgg;:;d?tn fill the tank by all the three
60 8.20./fot) Ftfos’ chenTBod. L& (1) 4.5 hours (2) 6 hours
8 s (3) 3 hours (4) 4 hours
Em D &0 8 fowersy Rolcrerds o, £, R ©F Feren 2.8 erof JoHmDE
S achenBieosd. HeomrarSs D 15 oty O 10 Hoed' DoHeraw.
DTEPHETIDE 2y P60 600 8, 9 D o Dodr 30D e &rsosd
mé‘ ;} W 5'; : Pa— QOAERE HT DDOHO B’ & Er50HD
VoG, JTPHATINS &0 £Q oDERE BB SHOTE  BSrso.
Boch Dg0) 2.5 AR HFEES crenaraw ? T Miren O & drjofd
240 &5, (2) 37585, NOJETRE )0 Do Hehod 7
1) 4.5 fioten (2) 6fotien
(3) 22583y, (4) 360 8.50. @ 3 Kodoen (4) 4 Koden
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If area of a square shaped plot Is 18,225
square metres, what is the length of diagonal
of the plot (approx.) ?

(1) 125m (2) 225 m

(3) 190m (4) 135m
SRGTTE0S” &) 2.8 Fen Jrego
18,225 &8 AW eond, e aren
Gy EQo FETod (o) ?

(1) 125008  (2) 225 D

(3) 190 & 135 e

There are 40 people in a group. If all shake
hands with one another, how many
handshakes are possible ?

8 Duriros’ 40 208 Ssfen dary .
D8 28 198 2408 $Sooso
T, o D) ESTerren ArCH50

3T 7
780 (2) 880
(3) 380 (4) 800

What is surface area of a 12 em x 10 em % 5 cm
brick ?

(1) 460 cm? (2) 240 cm?

(3) 230 cm? (4) 480 cm?

12 2050, x 10 Do, x 5 Do.he
Soden fo 2ens a8 Sordse
STOL0 D0eh 7
460 20.80.2
230 R0.2n2

(2) 240 0.5y
(3) [4}; 480 0002

If height of a cylinder is 50 cm and radius is
14 cm, what is the volume of it 7

(1) 31,800 cm? (2) 33,800 cm?

(3) 30,800 cm? (4) 32,800 cm?

2.8 Qrdo S I 50 Do.d, arsrdo
14 0.2 ©od o0 NS H8STHo
J0eb ?

(1) 31,800 0.202 (2) 33,800 o053

@ 30,800 R0.20.2 (4) 32,800 0.3

40318

10.

11.

12.

13,

Speed of river is 8 km/hr and speed of a
motorboat in still water is 32 km/hr. How
much distance can it cover downstream in 40
minutes 7

SO o 8 8sMosy DB Derks
NS HEHBS Do 322 &Ko
DO |HITTVE Tend 40 dars
& 0Chad O TS0 o 7

(1) 255 km/8%. (2) 25 kv 8.,
@ 265 km/ 8. (4) 268 km/ 88,

A vessel is filled with liquid, 3 parts of which
are water and 5 parts syrup. How much of the
mixture must be drawn off and replaced with
water so that the mixture may be half water
and half syrup ?

28 PSSV (BS80S 3 Sodven S,
5 JSohen VD @od. JSSod 9
D85890’ (B30 Fefod, o ArSos
A DodE, S0 awEvods Htio HE,
Ao PG roéraw 7

mE: @3 @% (4)

¥ 5,000 amounts to T 7,500 in 5 years at a
certain rate of simple interest. If the rate of
interest is increased by 8%, T 10,000
amounts in 3 years to

(1) T15,200 (2) T 15,400

(3) ¥ 14,500 (4) T 15,000

Fos 8¢ S Bend &r 5,000 wden
5 0088 Yo' & 7,500 Do wonod.
3G BN 8% 2oDS &, 10,000 @den 3

mina

D080’ Joes Fuho eySod ?
(1) & 15,200 & 15,400

(3) & 14,500 4) & 15,000

The difference between simple and

compound interests compounded annually
on a certain sum of money for 2 years at 6%
per annum is T 36. What is the sum ?
S0t o) 2 Bodh N0Se o708 6% &
Send NE¥ 3@, JEsde Fko T 36
&, &3 haw) Dods ?
¥ 10,000 (2) ¥ 12,000
T 8,000 (4) T 9,000
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The angle betwaen the minute hand and the
hour hand of a clock when the time is 5.25is:

(1) 12% Degrees (2) TE% Degrees

(3) 11";- Degrees (4) 11% Degrees

5 fiobe 25 Ao ShHabhost
HBArSoS' Hote doends, Dores
S0EDZ 2058 50 Ddoed 7

(1) 12;1; &|fien @ 12% &|Aen

(3) 11% &ifien (4) 11} &(fen

Introducing a person, a lady said, "He is the
son of the brother of mother of my father.*
How is the person related to the lady ?

(1) Nephew {2) Uncle
(3) Brother (4) Cousin
2.8 S58 HASMo TP 2.8 Hore &

DGO THYoA. “Qeddy S0 o)
SO FAHA T, & 958 & Solress

oSy @Sy ?
(1) Ddench @Haéaé
(3) PSS (4) 528 ,

Sunitha started from her house towards
south. After covering 12 km, she turned her
left and travelled a distance of 5 km. What is
the shortest distance now from her house 7

WS $Y 208 DA S8m0 AYS
DATSRoB. 12 km  (HAirBodeS
SDTS BB S b Sapfe S8R
S km (DAirfood. a8d Lol &

20638 wegery Erdo o ?
(1) 23km 13 km
(3) 17 km (4) 7km

18.

19.

What was the day of the week on gt October,
2004 7

(1) Friday (2) Saturday
{3) Monday (4) Wednesday
8 525, 2004 7°chH D 50 ©wOBOA 2

@ BEFS0 @) 320
(3) &Fdardo 4) 2wdardo

The calendar for the year 2018 will be the
same for which of the following year 7

2018 QoS0 T Bods, & Bod
TES D DosS 80 S5TodED O
GOLNoH 7
(1) 2030
(3) 2023

(2) 2031

2&29

At what time between 10 and 11 o'clock will
the hands of a clock be in the same straight
line but, not together ?

g
(1) 21 = min, past 10

s,
.

10
{EJ: 21 i min. past 10

9
(3) 22 i min. past 10

10
(4) EE'H min. past 10

10 fio. 11 fo.e g KBTS0’ Bok
Swever H8SDossioa 2.8 HEE Sp
e )Ch &oeTay ?

9
@ 10 fodye> 21 — 9,
11

(2 mﬁcmum}-[—’a.
11

3) 10 Kodsy 22'?—5}

(3) ocdye T ™

10
(4) 10 Hotoe 22 o o
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21,

22.

23,

24,

25,

If A + B means A is the mother of B, A x B
means A is the husband of B and A + B
means A is the daughter of B. In the
expression Y x Q + Z + K, what is the relation
between Zand ¥ 7
(1) Zis the daughter of Y.
(2) Zisthe father-in-law of Y.
(3) Zis the father of Y.
(4) Zis the mother-in-law of Y.
o+ 80 @0 o), D T 89, d x D wod
o), 2) BInE; 38 d+ Dwotr ), D S0g;,
S wond, I xr+ 28+ TS
208 38 X adidonodo DA ?
(1) =&, 3 G Sus5r8
(2) 28, B Wy S
(3) =&, 3 g ol

28, 8 B od
Find out the next number in the following
series ;

1808 (B3 Schares Howsd EHfSod.

62,3, 4, 8,8, 15, 14,7
24 (2 28
)

28 (4) 22

Find out the next number in the following
series,

E08 (FBS’ Stharss Do EHFmsos.

1,1,5,48, 11, 169, 19
(1) 529 351
(3) 256 7) 324

Find out the next number in the following

series :

180d (FS’ thared Hopid SHRS0A,
45678812, 5678912, 567891, ?

(1) 567892 (2) 678912
@ 67891

(3) 56789
What is the missing number in the following ?
180® (FAS" 823 Do A ?

300, 296, 287, 271, 7, 210

(1) 250 (2) 248 (3) 244 246

What is the wrong number in the series 7
1E08 (FAS” Sy &edy Homs DO 7
28, 84, 112, 196, 308, 504, 872

504 (2) 872 (3) 84 (4) 308

40318

26,

27.

28.

Pramod walks 4 km from office, turns right
and walks 3 km, then he turns left and walks
8 km. Again turns left and walks for 3 km. At
the end, he notices that he is facing towards
west. In which direction was the office from
the present place ?

(1) MNorth {2) South

(3) East (4) West

(BBPE S s oA 4 8N &Y,
SATHE BON3 8D, SAD, ST°5e 5
%8 860 8 £.0. 5AD £ i 3
@00 3 8.0 SATW. DISK sy
DG BFHY DT &) D B0,
(RDeS TS0 oA @ed) aby D A
= JoTalr

(1) @ddo
(3) &rdy)

&Smo
(4) a8t

InA, B, C,D, ..XY,Z(26 letters series)
which is the 6" letter to the left of 9 |etter
from the right end ?

AB,C,D,.... X, Y, Z (26 wiTre §0) S
208 DSG DHod 98 LoDE JEL

(D88 38 63 ©E80 D6 ?
@ L @ M
(3 J (4) K

If the word “UNIVERSITY" is reversed and in
the reversed word third and sixth letters are
interchanged, what is the sixth letter from the
left 7

UNIVERSITY 3 Jor0) sdhars 5%,
8 D) D&S PSS, ess

wEToN  HEDBo  IrddEond,
DT 008 65 @EE0 OB 7
{1} E (@2 s
(3 R :
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29.

30.

at.

3z,

3 1
After adding a and subtracting = from a
4
fraction the new fraction is ) What was the
initial fraction 7
3 1
28 DTRE - D 0D, D L TSRES
4 ‘
= 5,807
69 99
(1) Jes (2) Y58
89 9.
168 (4) 788
Which of the following fractions sequence is
in descending order 7
808 T8S 2 DdFE 0s8r
&0 &oh ?
531 4.2 1 54 3 211
@ﬂ:_ll—!_l_l_ (B oysiTaseTiz
i el o 7°9°5°7°2°8
g BE2361,, 538 1d42
{} TIE!?JEJQJB {}?JSJZFBJQJ?
In the year 2010, population of village A was

72,000 and village B was 64,000. The
population of village A has been decreasing
at the rate of 300 per year and population of
village B has been increasing 200 per year,
In which year, the populations of both the
villages will be equal 7

2010 HoSéidos A ©F (T 2T
72,000, B @3 [Ted 2727 64,000 ™ 0O,
A T BZ7er V0580708 300 Ty
ST Hob. B [[Pa 237rer Do yorR8
200 STHN  HMEr @od. D
HoSeh oS DBody |Tare  2Rrer

NATA0 eafEraw ?
@2525 (2) 2027 (3) 2024 (4) 2025

i +I = E,whatisthe value of 22 2
¥ 2 3 3x
2

241 = Beond L densdos?
y 2 a 3x

3 4
M 17 17

16 5
3 37 4) 77
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33.

35.

TR B

36.

=

g
a !
(=
e
-3
-~

t
What is the value of 55, 64,328 x1257 7
55, 64,328 x125 Ded DOeh ? i

69,55,41,000 (2) 69,5542,000 &
3) 68,5541,000 (4) 69,54,41,000
(286+796)%-(286—796)" -
286 % 796 '
286+4796)%-(286—796)%
: 2;.5 xtrqs = =087 ol

@4 (2) 2,164 THw

) 1,082 @) 510 =

If the sum of the two numbers is 20 and their
product is 84, what is value of the sum of
squares of those two numbers 7

?Bof&: Jopie Fwedo 20 HOA ©RO
784 ©woNd & Doch Do ST Tndo
D0s? 3

Vo
1) 202 <3
232

A, B and C are running in same direction
around a circular playground and all the three
are started from same point. If A, B and C
complete one round of running in 42, 68 and
126 seconds respectively, when do they meet
again at the starting point ?

(1) After 71 Minutes 24 Seconds

(2) After 72 Minutes 24 Seconds

(3) After 70 Minutes 24 Seconds

(4) After 71 Minutes 26 Seconds

2, 8, % en 28 OIS SyT s eb 0o
oty 2570, 2.8 o svod HeRSdo
rdodod. a8 HOETVE 2 D,
2 e [Eorr 42, 68, 126 DED HAS
T SHET 20HenB8S Poos So®
20 HAHODO ared Fennftn 7

@ 71 Q. 24 Q. $laTred
(2) 720,24 . Shoaed
(3) 70 .24 R, SSoaTed
(4) 71 .26 . SSoared

(2) 250
(4) 208
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#6088 = 216 and 6%*Y) =7 776, what is ]4!1 In a garden there are 33,856 trees and

the valug of b 7

6@-b) = 216, 6@+ =7 776 ecwd b
S8y dewsd o)odh ?

(1) 2 @1 . (3) 4 (4) 3

Krishnaiah gave 30% of his retirement
benefits to his wife, From the remaining
amount he distributed 20% each to his 2
children, From the remaining, 50% of the
amount he donated to a school. If the final

balance left with him is ¥ 42,000, what was
his total amount of retirement benefits ?

(1) ¥2,10,000 (2) ?2,20,000

(3) ¥1,80,000 (4) ¥2,00,000
L0 85 @l DSeaso
1020800 SDIS Fudod 30% @
PO AT, WAOS ool 20%
TS S5 2O VRO DOTIE. ROS”
20AOS o, 50% .8 FéTedy TN
Do, DAG™ &% S S 42,000
RO, §ynck; T a8 Dby
Ho20H0D ST Twdo Jos ?

(1) 87210000 (2) &> 2,20,000

(3) & 1,80,000 é:tz,un.una

Two persons have contested in an election
and 12% of the voters have not participated
in voting. 15 % of the polied votes are invalid
and 10 % of the polled voles are for NOTA,
Among the remaining votes, the winner got
B0% and won the election with 2,640 votes
majority. How many voters are there in the
voters list 7

A% SiHen e TS 28 0 ES
12% 08 L4650 Lt JoHSn. FSS
2,86 15% 4,80 TOS . 10% 4.0 'St
8 Hraw. AODS LS 60% .0 SFrod,
2,640 2.0 Dzroeds e AON ©
Lok DS dod Hod LeHD
a0 ?
(1) 26,400 (2) 28,000

20,000 (4) 24,000

4.

42.

43.

number of rows of trees is equal to number of
columns of trees. How many rows of trees are
there in the garden ?

33,856 TEY o .8 Se o e,
QeNS SO DAFI0 @O0SE,
St 223 et ShHden Garyon ?

(1) 186 @134 @) 174 (4) 176

The average of 9 numbers is 23. Average of
first two numbers is 25 and the average of
next three numbers is 17. If the average of
6", 7% and 8" numbers is 2 more than the 9"
number, what is 9" number ?

9 Homge Hifen 23, Bwcded Tod dopie
Di5e0 25, dared IR DO AMfED
17.8 5, 7 S, B 2 fomges e, 9.8 Aoy

o2 3,9 5 Doy o 7
(1) 24 25 (3) 22 (4 23

If 2 is added to the numerator and 3 is
subtracted from the denominator of a fraction,

the fraction becomes % If 1 is subtracted from
the numerator and 5 is added to the

1
denominator, the fraction becomes T What is

the sum of numerator and denominator of that
fraction 7
2.8 Ddy1o Tng), o8 2 0D, H*do

od 3 253 R & Ho % W06,
@80 od 1 89T Fols 508 &
Hsy0 j‘;@;@;eﬁaoé.g Ddy0 T ©F,

Soren Swddo Jodh 7
(1) 12 (2) 13

(3) 10 11

Difference of the current ages of father and

son is 30 years. 10 years ago, the product of

their ages was 400, what will be the age of

the father after 8 years ?

(1) &3 years {2) 53years

(3) B8 years (4) 58 years

2.8 $0|8 FeuHe Hays Sohine oo
30 Hodebyoew, 10 Dose yoee (880 o0
SCBHMS OO 400 WONEE, B HOJ TV
Sared So|ds T Joed 7

(1) 63 ooiorew (2) 53 AoITTED

(3) 68 onoren 58 ROITED
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In a monthly electricity bill, some part is fixed
and other part is calculated based on the
actual consumption of power per unit price. In
a particular month for 500 units, the total
electricity bill was T 2,000 and in another
month for 650 units, the total bill was T 2,450.
What will be the electricity bill, if the power
consumption is 725 units 7

(1) 2,700 (2) %2800
(3) 72675 (4) T2,650
ToHd s Dews Fos Jwedo
BMelelginey e TS0

DNTFAODS Dy cLrdd &Y
S8 Adard. 28 A0R T 500
GO JASIrrRE Gr 2,000, NOE
o 650 dLrdd) DIGrMRE & 2,450
Den SO0, 725 ardl Dogd
DTS Dodh De HNodd 7
(1) &3 2,700 (2) & 2,800
& 2,675 (4) & 2,650
and, Bharath, Manas and Prakash have
invested in the ratio of 4:7:9:5 in a business.
Anand stayed in the business for 8 months,
Bharath stayed for 6 months, Manas stayed
for ® months and Prakash stayed for 12
months. If the total profit earned is ¥ 43,000,

what is the difference between the shares of
profits of Anand and Prakash ?

(1) T 5,400 (2) % 5,600

(3) ¥ 5,000 (4) T 5,200

e508, FHOSE, SrdD, DT af
TG0 4:7:9: 5 AABS Pad
TR, 8 FrdoS adod 8 Joew,
O 6 Toew, TR 9 Foww, PSR
12 Soen gy, Sndo SO0 erdo
&1 43,000 000 E, 508, D5 erare

TETE) 068 TS0 gk ?
&5, 5,600
& 5,200

(1) & 5,400
(3) &= 5,000

15 workers working for 9 hours per day can
complete a work in 32 days. How many
workers by working 8 hours per day can
complete the same work in 20 days 7

15 08 Ferdd 9 Hotrer Ty HATR
32 e 8 HD T, dod o
g0 8 10638 1575333 HATH oF HAD

27  (2) 28

(3) 25 (4) 26

10

47.

49,

Azeez bought a scooter for some amount and
spent 20% of it for repairs. After the repairs,
he sold it for 30% profit. In the process Azeez
made ¥ 3,600 as profit, what was the amount
spent on repairs 7

el 2.8 Arpebd Foss Jngal 3,
T 20% F0d5 pdy) DVEFE. T
®ovd Sharéd Ry 30% ergral
wd, wfLih T 3600 erdo S,
A8 B985 o ) o ?

(1) ¥2,400 (2) 2,700

(3) 21,800 ? 2000

An Amount was distributed among A, B, C
and D in the following manner and B's share
is T 1,600, What is the share of D 7

A'sShare _ B's Share _ C'sShare

B's Share  C'sShare  D'sShare =
(1) 23,000 (2) 23,200
(3) ¥2,000 (4) T2,500
Fodd BTN o, D, W, & a0 (50d 2D
2580 Hochfuod D ardrrmr & 1,600
37, & T Joh ?
Dty Dty DaEr 4
Dertr Tty Garér 5
(1) & 3,000 2) &® 3,200
(3) & 2,000 &, 2,500

Ratio of salaries of Kiran and Suman is 4.5
and after a hike of T 40,000 each in their
salaries the ratio changed to 5:6. What is the
current salary of Suman after the hike ?
(1) ¥ 2,40,000 (2) ¥2,52,000
(3) ¥1,80,000 (4) ¥2,16,000
8565, oS daren 4 1 5 AN BS
Gy 0. 288 & 40,000 TRy Heo
23008 ST 8 fee AR 5: 6
wonod. Bso DOAS SLas b
TB0EY 106 Hedo Do 7

& 2,40,000 (2) & 252,000

(3) & 1,80,000 (4) G 2,16,000
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@2 (2) 6

51.

52.

53.
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How many dots are there on the dice face
opposite the one with four dots ?

1808 FOES 4 DK OH DEHMT I

e g o ?
[)
s [ ® e
% e 0%
Y L)

(3) 3 (4) 4

Two positions of a dice are shown below.
When six is at the bottom, what number will
be at the top 7

Boh Fod &) o8 0§ od
2350808, 6 1808 &I D IV

Eotnod ?
| I I ] a 8 B
. I
(i) (if)
(1) 4 @ 5 (3 1 (4) 2

Study the' following number sequence and
answer the question below :
48B251473985726315824863
852243496

How many odd numbers are there in the
sequence each of which is immediately
followed by an odd number ?

1806 @D FHER RS B0, O
Bodd @IDAS  HAH  AIrTR0
orabod.

486251 473985726315824863
B52243496 :

= BSS' 2.8 B2 Dops 1HES HE B
dompy STEPT V) Bo dopien

G007
@ 5] (3) 1 (4) 2

(1) 4

Find out which of the letter series follows the
given rule.

Number of letters skipped in between
adjacent letters in the series is in the order of
12,22 32

18083 2D DEHAFD) ©RH00T @F 8
FS 287

ESoorr 12, 22, 32, --- eFren (D58
®f ore 0Q§ Do otrd,
(1) KMUZ @J EGLV
(3) ACKR DFLO

11

56.

56.

57.

There are two similar figures given bslow with
some numbers. Looking at the first figure
carefully, fill the suitable number in the
second figure in place of *?".

Sodhy 2.3 eroed Heren ) Jopiod
ey & (Sod aSjoFaw. D0
Herd) S R0V, Bodd Hod'

DT 080 (7) @)l GodSORS

%) R
299

(1) 100 (2) 280 (3) 202
Find out the right one in place of '?".
? oS gomdyd DoowS TR
h8ooa. |
ALD, VEPI, XHTN, ?
'i_ocs (2) ZKXP (3)ZIVP (4)ZVJP

Arrange'thé following words in alphabetical
order and find the 6" word.
& 1808 &%) sTed vis Evos
@308 625 HETR) EfS08.
Discipline, Dialogue, Dexterity, Dimension,
eter, Diagram, Devour
Dimension (2) Diameter
It Dialogue (4) Discipline

Choose the word which is different from the
‘rest

(1) Papaya (2) Brinjal
{3) Cabbage (4) Cucumber
8o 8S HIor GS) TR
rdod.
&Haryon -(2) Hosad
@) syBes (4) Sdsah

Find the minimum number of straight lines
required to make the given figure.

1808 @D HErd) AdoBaRs
$QROT AV DEE Bpen 7 ?

Mm@ 7 @ 4
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Find out the right figure from A, B, Cand D in
the place of “?' to continue the series.

FB  FdTAodmE 7 @‘R’Jmf
GOBSDND DS DTV A, B, C D e
o Mlodod.

Problem Figures / fehar g séren:

XX 7

Answer Figures / e3> éren :

X)X %

(A) (B) (C (D)
(1) ¢ @, D 4 B
Find out the right figure from A, B, Cand D to
complete the figure given below.
Bod HErR)Nosgo Tabars A, B, C,
D & S0& HBH Herdy Mdodod.

Problem Figure / Hsdoarg Hédo:
o

u;"“\-
o\\_
o

Answer Figures / HSrgrd Héren :
o \\_ o . | /o
[ ]

o L] Q

(A) @B} (€) (@)
(1) C D (@A (48

Select a figure from amongst the Answer
Figures which will continue the same series
as established by the five Problem Figures.

Bo& =l DAy DErOd
TIFAODEOE Denrr Do Herod
D& DETR) Mlodod.

Problem Figures / QDR g Déren :

e o aw|je x ofe ¥ Mle M M|le X X

" s ajle s = s sle 8 #|X & @

e a|le & @ a ole x x
. »

/

Answer Flgures / aSrgeed Hérex :

. X X . X X . x X e X X
X e @ X @ @ X & X X ® X
X @ X L]

(A)  (B) (€) (D)

@c @2 D (@A (4B

If the rectangle represents private
employees, the triangle represents rural
people, the circle represents doctors and the
square represents graduates, which of the
following represents rural private employees,
who are graduates 7

A8 SdHo (DI Aadihed,
SBhzo (P Daedy, SHydo
Bevgod,  GdHe DRBICoeD
B[O, 1806 T8S’ HOHHBS (raee
e & e 26 Ardod ?

2/5

W, n
AR

(1) & 2
(3) 6 ?

Which of the following diagram best indicates
the group of
India, Andhra Pradesh, Telangana

Bod o8S 2 Do  rdsdido,

S0|(HET, B0 Homr
Headodnod ?

(1) {2} (3) 4)
(1) 3 4 (3 1 E

Which of the following diagram best indicates
the group of

Sun, Moon, Stars

1808 T3S’ D HEo Drd, ok,
S |Eod HOm HeDodNos ?

QO e

(1 (2) ) (4)
' 3 4 @3 1 4) 2
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66.

67.

aea;n |D&), Bo& Frdos

40318

Study the following arrangement of lstters
and characters carefully and answer the
quastion.

#6BG@IL73HA%ODFKES8JQ1"
VTUZ2SW

If B% = LK, what is equal to AB 7

1Bod ad)s e@ioe, Hde BH0ED
ST edichdo TR, (D15
HAFEH0 Trahod.
#6BG@IL73HA%ODFKESJQ1"
VTU2SW

B% = LK e&900& A B B8 Jairaio ?
(1) KF @ Q$ (3 EK (4) DF
P, Q, R, 5, T, U are seated in a straight line
facing North. R is third to the right of U and Q
sits second to the right of R. S sits to the
immediate right of P. Which of the following
represents the pairs of persons sitting exactly
in the middle of the line 7

P,Q R S T Uenad S0 addo
S5Q Wryr Hrd oy, R, U Gngy
08 D8 Lrad Fsod, Q, R & H4
1088 Dol Frdod Hrdpomyd. P §
1DE R HAZ5 S Srdyomad. (1506
TBS D 2os SHHS P Sor HeS

wmgv@

(1) Qs SR (3) sQ (4) uQ
Eight boys sitting around a circular table
and drinking milk in their own separate
glasses with |D numbers 1 to 8. Boy-2 is
sitting between boy-6 and boy-7, boy-1 Is
sitting between boy-8 and boy-5. Boy-3 Is
sitting to the third left of boy-7 and boy-8 is
sitting to the third right of boy-4. What is the
position of boy-5 with respect to boy-3 ?

{1) Third to right {2) Third to left

(3) Secondtoright (4) Second toleft

1 008 8 385 th803y Doggen SORS 8
oS zrent af SHTT0N 20 oty
ErIR 2858 TS o are
ey &0, 203 2rendhy; 6, 7 arend
DGES, 185 erenc; 8S, 55 arend
SesseS Hrdoymrydhy. 385 arencd 78
arenB: IBXDE) Srdd Tdod 85
arendd), 48 arendd HodDE) Sardd
Fs0S Srdyamd. 58 arench, 38
2ren @ Syals D858 Gyt ?

(1) S8 HE) 8 o

(2) Db 1HE Sré Frod’

(3) H0& [H8) Dol Fdod’
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69.

70.

Choose the figure which is different from the
rest.

1808 8BS DI TS D0 A ?
5 4 3 3

1 X a3 X 2| DL | ¢

213 511 5™ | 57/
(A) (B) (C) (D)
(M) Cc (2 D (3) A

,B
Choose the figure which is differentfrom the
rest,

18308 TS DS N HE0 I 7
M M
CLICIDIE
M (]
(A) (B) ( (D)

(1) C (2 D A 4) B

Select a suitable figure from the four
alternatives that would complete the figure
matrix.

180& HETR) Mor@o Tabh@R8 AP
LT [:{e]] == IARTN arentD
HErgairy dire od Hhiodod.
Problem Figures ] Dedorrg Héren :

X [T

ot
o e

Answer Flgures / fedrgra Héren :

5 |7

(2) (3)
2y 4 (3) 1

A A
Jale B W
U N

F |

%

(1) (4)

(4) 2~

( !;1 ) 3
. oose the alternative which is closely

resembles the mirror image of the given
combination.
1Bod adyS Holirfo GinEy &)

H8DordE o8 ST &old
lHErsir) Air)) S-S0 d.
ANS43Q12

1. AMZSLEONS 2. SrOERSUA

3. SUAEROSH 4 T[SOREAUE
U R D < 2
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Rakesh ranks 151 in the class of 42 students
and there are 8 students below Rajesh rank.
How many students are there between
Rakesh and Rajesh ?

42 %08 Dorithen o 2.8 $81aS° o¥n
ooy, o°5o%d 15, TPEn U500 g0t |20t
8 08 a8, oEng, oERE S

Does oo Dorpthen gy & ?
(1) 18 (2) 19 16 (4) 17
73. Find the correct numbegrirrthe following in the
place of '?.
1H7).050 (7) oS godSORS BB
Hogsd Effsod.
[ 18 28 32
22 15 ?
35 34 38
29 47 36
(1) 34 (2) 44 (3) 28 (4) 18

Q.No. 74 to 78 : Read the following Information

carefully and answer the questions given below :
Seven friends A, B, C, D, E, F and G are studying
different courses among Computer Science,
Commerce, History, Mathematics, Economics,
Communication and Physics not necessarily in the
same order. Each one of them have liking for a
different colour red, blue, green, pink, orange, grey and
yellow, not necessarily in the same order. Three of
them are females. A likes yellow colour but does not
study Commerce or History. The one who studies
Commerce, likes grey colours and is a female. E, who
is sister of F, studies Mathematics and likes pink
colours. G studies Physics and likes red colour. F, the
wife of C studies History and likes green. B likes grey
and C likes orange, the one who likes blue studies
Economics.

74-78 : |808 @) JSraoWL e SO,
o0 808 &) 1D 0% SSrEerOS 508 :

A B, C,D,E F G&3 720080 R)ardien a6
SeBS Fhyen foird RS by, s,
Sr5coehess), JETE), SMmd3AS, SzEyee
28 &0 shoa Byar) . TOS D
280 DG O5BN Sofhen D, RO,
@oHd), Dok, oz, 7 Hnaed 28 ERNelo)
chom @RddhéTyH. o0 Suihd
Sfpdien A & Hind 6ofH ®ot) BP0 TR GBS
5085, Sranben d6380 Beb. 5086) SO S58
So2ré, & |7 Sohed anatdod F 3y
HEE Lo E, Sridihelsy oopsr oS
Sothd BAdE0d. G DBE) BiHer DY
B0 aRndErd. C Ting), s ®ch F arad
Bsr wfhds) Goml anntdod. B (A
Sotho, C 0oz dofod andiders. deo

B0 BANE 558 HETEHR DAY,
40318
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74.

75.

76.

7.

78.

79.

80.

81.

Who is studying Computer Science ?
ZseaB IR s Sy & ?
Cc (2 D (8 A (4) E
Which of the following combinations of
colour - person and subject is correct 7
{1) Orange-C-Commerce
(2) Blue-D-Economics
(3) Bilue-D-Mathematics
(4) Pink-F-Histary
& 180n T8S Both - S8 - HFFo D
Hodirfio ABRG ?
FrB023-C-5700)
@ Hero-D-JEanE)
He30-D-Srsantdsy
4) 205-F-2rb
Who is studying Commerce ?
@535 D58 Sy o ?
B (2) E (3) A (4) C
ich of the following is the group of females ?
808 3" D DSursran ;:m ?
(1)AEF (2) ABE (3) BG, B.EF

Which subject is studied by C ?
(1) Communication (2) Computer Science
(3) Commerce (4) Economics

D DT SerePeaT) i ?
§orBAS  (2) Soayidd RS

08 (4) Q808
Find the correct number in the following in the
place of '?'.
SF0%0 () TS0’ womrd)d DS

Howid o b.
1 2 4 11
8 10 14 32
9 |23 |26 D
(1) 46 (2) 56 (3) 36 66

Find the correct number in the following in the
place of '?". ;

B850 (7) oS aomdyd A
f‘\’aoa:-%} 5&5}!%0{5.1

9 20
(1) 10 (@) 14 @1
Find the correct letters in the following in the
places of 7.
7080 (7) TS somdd HBS
wiood Sfdod.

ADHNVEZ,?
(1) ’u'.N ua@ T.Z

4y X, M
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83.

A 500 metres long train with 90 kmph speed
crosses a bridge In 90 seconds. What is the
length of the bridge ?

2150 m

{% }:Sﬁgm 53 1,750 m

500 &S &Yy Ko 2.4 Bexn Hoeasy
90 8.0, Jfod’ 2.8 S083 90 NS
T8, 8 J08S AT 7

(1) 1.850 &8 (2 2,150 etk
(3) 1,500 &ueatsy 1,750 Qoexdd
The ratio between the—gifcumferences of a

Square and a circle is 7:11. What is the ratio
of areas of the square and circle ?

a8 SEBRD&W, Sydsne ttpSede
A8 711 swond, e IRV TER
SILO FTO S0 QN IB Joes ?

(1) 49:88 (2) 28:55 7:22 (4) 22:77

From the following two statements, one is an
Assertion (A), and the second one is a
Reason (R). These statements can be true ar
false. Choose the correct answer from the
given alternatives :

Assertion (A) : In India, the judiciary is
independent of the executive.

Reason (R) Judiciary favours the
government and helps in the implementation
of its plans.

(1) Ais true but R is false.

(2) Ais false but R is true,

(3) Both A and R are true and R is the
correct explanation of A,

(4) Both A and R are true but R is NOT the
correct explanation of A,

808 ANAS Bod DSSareS 2,888
(DBISS (A), DEEES 820 (R). =&
AP 5B, S ). S0 e=DARTY
(D855 05rS” 00d KBS dSrerard)y
Eoffsod,

(DBSS (A) : 2rSdFIoS arian
S§SW, SO DELTE Sgdeen
N SSOISOorT ST oD,

55600 (R) : T°iaDH 25598 [2285e8 008
s SEAE 557888 oD
|ReT P>y @en 288065

TE0N0H,
(A) DBSG, (R) DBIA 57640

(@) (A) DDA ¢, (R) DB,

(3) (A), (R) &0 Bodir DS S8k (R),
(A) 50 5B dedSen.

(4) (A), (R) &0 Bodhr HBSD 59, Jo8akn
(R), (A) 50 0B Dadten 5ok,

40318

B6.

87.

89,

Find the correct number in the following in the
place of '?".

DTPE0 (?) FS0S” Gomd S HBS
Q0PN ETS0A.

13 |28 |48 57
15 26 a7 42
17 24 26 7
(1) 28 (3 20 (3 24 ’2?

A triangle has three sides as 5 cm, Bem and
8 cm. What is the area of that triangle
(approximately) ?

(1) 18em?(2) 20cm? (3} 15cm?(4) 23 cm?
&8 |82ba0 A, Zhasnen 5 2o.f, 8
0.2, 9 Do.Den wond e |BeHaso

A3nE) BTWE0 Do ™) ?
(1) 18 Ro.5y? 20 20,202
(3) 15 Ro.8y2 @ 23 o5

In & group of five persons P, Q, R, S and i
one plays Tennis, one plays Chess and one
Hockey. P and S are unmarried women and.
play no game. T is husband of R. No women
plays either Chess or Hockey. Q is the
brother of R and he neither plays Tennis nor
Chess. Who plays Hockey in the group 7

P.Q R, 8, T &F 018 Smrods 2,88
BRLR, 250 T, HEES 8 wserd. P,
S & @dTerd Alréen, oM D e
B, TOS" T, R Ty 36, D Soirel Sy
TR 5, a8 590 eschchd. A T RISEBS
Q AR SN T D edd e
RATEFoS” 558 D5 escherd ?

(1) R 2y T (3 P 'D
Rama bought a new chair for 20% discount.
Had Rama got no discount, Rama would

have paid ¥ 350 more. How much did Rama
pay for the chair ?

G 54 50830 20% R 0SS TI18.
2.8 3% 508 08 S0 GOSES,
S0 T 350 %03 TDodaserd STIe.

30839 650 oS DEFTI & ?
(1) 1,050 71,400
(3) T2,100 (@ %1,750

What day will be the 81 day from today, if
today is Monday ?
(1) Wednesday (2) Sunday
(3) Friday (4} Monday
& U2 FDrS0 ®onsSons, S S
0G 81 & For ) 380 @Yo ?
1) a20dado (2) esda8o
D Fardo (4) Fardo
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0.

From the following two statements, one is an
Assertion (A), and the second one is a
Reason (R). These statements can be true or
false. Choose the correct answer from the
given alternatives.

Assertion (A) : Water is essential for life.

Reason (R) : It is formed using three parts of
hydrogen and one part of oxygen.

(1) Alis true but R is false.

Ais false but R is true.

(2)

(3) Both A and R are true and R is the

correct explanation of A,

Both A and R are true but R is NOT the
correct explanation of A

(4)

805 @S50BS Bokh (HISTS 2863
DEFSS (A), FEe3 820 (R). 3D
0D FaAT), $a3) T, Sod Ay
|DErser) OreS 0 BBS DSTTR)
Eoffsod.

(DSBS A

NEPsG0.

(A) A0erD8

580 (R) : @8, Sardh arme e,

o8 griio ef s orgom D88 A8,
@ (A) SBSE, (R) MDAG s,

(2) (A) QRO 570, (R) DB,

(3) (A), (R) e Dodhr 38D obcin (R),

(A) 50 DB Deddea.
() (4). (R) &0 DO 2BSA 5, SO
(R), (A) 8 0B DSB .
40318
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1.

From the following two statements, one is an
Assertion (A), and the second one is a
Reason (R). These statements can be true or
false. Choose the correct answer from the
given alternatives,

Assertion (A) :India is known as a

democratic country.

Reason (R) : India has its own constitution.
(1} Alstrue but R is false,

(2) Aisfalse but R is true.

(3) Both A and R are true and R is the
correct explanation of A,

{4) Both A and R are true but R is NOT the
correct explanation of A,

8000 RS1BS Both (DI 2563
(SIS (A), FEE B0 (R). 3D
DD T, a3 Tty Sodh Aty
DEEr) OIRS” D06 NBS DT
Eofsod.

DBIES (A) : 2rSSEI0 (HerRr g
Séor 2o rodod.

80 (R) : ardsTdo &8 Do
orzrsolio 5OA wob.

(1) (A) DTG, (R) AT 5CD.

(2) (A) DA 5, (R) DDSE.

L

(3 (A), (R) 0 Dodsr HBS &bk (R),

(A) 5 DTS DSGE.

(A), (R) £ Dot 5059 58, L6050
(R), (A) 30 A8 S8 e,
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92. The following question consists of a
statement followed by two arguments | and ||,
Choose the correct alternative from the given
options,

Statement : s paying heavy amount to

kidnappers of political figures, a proper

course of action 7

Arguments :

I Yes. The victims must be saved atall cost,

Il. No. It encourages the kidnappers to

continue the blackmailing activities,

(1) Neither | nor Il is strong,

(2) Bothland Il are strong.

(3) Only argument | is strong,

(4) Only argumeni Il is strong.

S0 DS B 28 (HELN Bok

TOdew, I, I GO0, D)

JSreoars’ 1B (@) iy

SfS0A.

DEOS : orasfah Tobhierd 8oy D
TS T8 DY Twsbos ¢han)
RDBO DB SBgar 7

a*eSaden :

L @D rddod Jos i) 263
SO 8§ oL,

L 5% gorodd 28 Sicwdok
Wiy  Tahards Sz 58
(865 JaroDIEY Yo,

(1) Imﬁ&:ﬁ,nacﬁémaﬁ@aam@.

(2) TGS, I arddden ALSTA NI

(B) TGS Sredd veosd,

TG Sr(edadh 2eod.

40318
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93.

The following question consists of a
statement followed by two arguments | and Il
Choose the correct alternative from the given
options,

Statement : Should we scrap the 'Public
Distribution System' in India ?

Arguments :

I Yes. Protectionism is over, everyone
must get the bread on his/her own.

Il.  Yes. The poor do not get any benefit
because of corruption.

(1) Eitherlorllis strong.

(2) Neither | nor Il is strong.
(3) Only argument | is strong.
(4) Only argument Il is strong,

508 DS (D) S 28 (D86, Bock

FONen, I, I OO0, RS

S A LN (e ASrd)

Scuffdod,

DS : ;Ss8FoS Her Hsvo
S5V 8P Ty ?

T Sden :

[ ®3d0. S5 Do SwAtod, [sded
288 o8 effol) o8
RAoTFEOHETD.

1. 8. OOBTOG S50 5305 293¢ 3¢
A BrocsesoTick.

(1) 1568 Bor I 7SS 200,
@I TG, 1T aredrden 2eTasd 5.
,(3) TE AP a0 od.

(4) TES Srs$sdh oo,

Series-C
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94,

95.

ar.

If ‘p' means +, 'q' means —, '’ means x, 's'
means +, what is the value of
115q216p87r168s12p406q258 7

p ®OE + &), q ®oh - @, r woh
x @2, s WO + VOB,
115q216p87r168512p406g258 DenS J0oeh ?
(1) 543 (2) -572 1265 (4) -486

Which word does NOT belong with the others ?
(1) Paddy (2) Jowar
(3) Wheat (4) Mustard

1808 78S DIY0m @510 O ?
(1) 58 (2) &)
(3) ficasd £8.500 TP

If odometer Is to speed as compass Is to

(1) Needle (2) Direction

(3) RADAR (4) Hiking

L8 Db FIrRs Jonodw ‘Hord'
828 Hoohodod ?

AAS (Bnen)
%E)gag.ﬁ (&%)
(31 oob

(4) Zr8cf (dihde)
Find the odd one from the following :

RTWZ {2) PRUY

éiﬁ >3 D10 @od DA ?
3)

1) 5
1

40318

MORV (4) HJMQ

In a lake, there are 10 steps labelled using
numbers from 1 to 10. Starting from step 1,
every minute a frog jumps to the fourth step
from where it started i.e. 5 and from 5 it would
go to the step 9 and from 9 it would go to 3
etc. Where would the frog be at the 60"
minute if it starts from 1 7

28 Fod 1 5 @08 Hod 105 ©os
650 H80HAN 10 Totw Eedad. 2.5 83
e Qabarmd @8 dady Bty o
aenth Dén HE drsoeéhood.
SIrarOesy 1 Aod 55 Toéps, 5 vod
925 DoeP8, 9 Anod 3 TéPs drsucood.
135 LY Hod Fodien DES e £5H 605
ADAOS AT DY NS HoEVOA 7
(2) 8

4) 3

18

@ )

A river flows from west to east and on the way
turns left and flows some distance, then goes
in a semi circle around a temple, and finally
turns left in right angles. In which direction is
the river finally flowing ?

(1) North (2) South

(3) East (4) West

2.8 SO D88 dod &rd) Do
Diredod. & Hoirpos I8
SN @68 Toeé drdo (Hairdodd
Soare, 2.8 N iy ef SyEedos
DArSod, DS eoufpod Id
IH&% BBA0H DSBT B8 O A
|Dairediyod ?
(1) @rebdo (2) &Sm0
(4) HES2S

100. Starting from a point a person walks 1 km to

101.

102,

gast, then he turns to the south and walks for
5 km. Mext, he turns east and walks 2 km.
After this he tumns to the north and walks for
8 km. How far is he from his starting point 7

2.8 (D840 Aol achendd 28 558
S50 HES 1 km SADS Sthares, o
o350 N8R 5 8. SBird, © Sare
@& Sy ) Toydo 0 2 km IS, @
ST ©as aSto % S6A 9 km
SAT. odd DI 20HeNTOS

50 0D Do BrdosS ey ?
5 kkm (2) 6 km
(3) 3km (4) 4 km

If PAQ implies P2+ Q2, PBQ implies P2 — Q2
then what is the value of (5A6) B (3A7) 7

PAQ, P2+ O D 0w PBQ, P2—- Q2 D
APOT (SAB)B(3AT) Dend o 7

(1) 347 357

(3) 287 (7)) 327

If 8 x 8 =10 and 8 x 9 =145, then what is
the value of 9 x40 7

6x8=10000W

8 x 9 =145 oS, 40 Dendd Joeh 7
(1) 31 @1

(3) V197 (4) 40
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Q. No. 103 - 107 : Read the following Information
carefully and answer the questions given below :
A, B, C, D, E, Fand G are seven persons who travel
to office every day in a particular train which stops
at five stations - S.A.Nagar, ESI Hospital,
Erragadda, Bharat Nagar and Moosapet
respectively — after it leaves the base station,

. Three among them get in the train at the bass
station.

. D gets down at the station next to the station
at which F gets down.

= G gets in at Erragadda and gets down with C
after having passed one station.

o A travels between only two consecutive
stations and gets down at Moosapet.

. B and D work in the same office and they get
down at Erragadda.

* None of them gets in at ES| Hospital.

. Both C and F get in at the first station after
the base station.

s E gets in with two others and gets down alone
at the station next to the station at which D
gets down.

» Naone of them gets down at S.R.Nagar.

103 -107: (808 HSroro) e SO,
T (S0 &) (Do SSrrad job.

2D D8 3 I, 2o 7 008 Sifen [2ed
T~ saio® o8 pends’ (Haireo 3%, @
B BO PASS' acHends I%.e8.548,
B[O S, O, BESINE, Sorre

8 5 PASS’ uhénod,

+ Swhd IHen TH PASS pew
NLAPE o)

e 2D O PAS Shd DASS &
Sbaecd),

B SHG VIS 2, 2.8 DAS edS
SSards 1S O Arharc,

* o Boch (D505 $o8 DASe g
(OS5l Sararneaes Aherd.

D G 3@Er ¥ whnd 1T
ASHGS” B,

 BIOD FRIOS PASS’ ANEF &S,

¢ D D B VAS shas 3T
0PI PASS' 8o

o 3 D 06 EDD Bew I8, & BAS
POS ST DASS' .65 Atharh.

o JReb. B DASS' 58T BHS.
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103. At which station does G gets down ?
(1) Erragadda (2) Bharat Nagar
(3) S.R.Magar (4) Moosapet
B, & WASS Afvercs 7
(1) St (2) 2358545
(3) IF.eb, SKE SrRDHE

104. E gets down, how many stations after F gets

down ?

(1) Three (2) Four

(3} Cne (4) Two

DD O SHard NS BDasSS g
ASverdhy ?

(1) 335 2) 4
(3) 15 2;5:

105. At which station does E gets down ?

(1) Bharat Nagar

(2) Data inadequate.

(3) ESI Hospital

(4) Erragadda

R 2 VASS” Sty 7
@ BEE S8

(2) @I Dedrerso

(3) AP0 Fy0S

(4) Srich

106. At which station does A gets in ?

(1) Erragadda
(2) Bharat Nagar
(3) S.R. Nagar
{(4) ESI Hospital
2, @ VASES' Doy ey ?
(1) e

@ cafoliTNTple!

~(3) dn.eeb. 516
(4) @R FHYLS

107. At which station does B gets in ?
(1) Erragadda (2) Bharat Nagar
(3) S.R. Nagar {4) Base Station
D, D VASS’ Doy ey ?
(1) JGHG 2) BESEING
. (8) JD.e3B. 308 TR PAS
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108. Read the following statements carefully and 111, From the four positions of a dice given below,

choose the right conclusion : find the colour which Is opposite to yellow.

g;&taﬁ.rﬂa;:hsu:ars are observers A e o

(i) Some boys are scholars. Food AOJ0D  yelow  Gofhs

Conclusions : S5BBsomr &) Soth 8 ?

(1) All observers are boys. Sallow Blus Red

(2) Some scholars are not cbservers. % F 3 8

(3) All scholars are boys. Orange violet |B) | Red |2) | Rose |2

(4) Some boys are observers.

1808 BD)S (DIBTON HH A0 (1) Rose (2)) Violet,

DT B E0FS0B ? (8) Red Blue

(DSBT N ! 112. In certain coding method, the word HRDP is

() HOTBELONEr HoToseD. encoded as XHTF. What is the code word for

(i) FTosdod arentd HH5 ¢ %0en. the word LVHW ?

Agrdmen : 2,& B8 27 HRDP  XHTF e 86 37,

(1) HBFHOOBET arent. LVHW Q 9 Dedorr & Tards ?

(@) Fos308 HB5eEen HBFLEL S, (1) BMLX YLMX

(3) HOFHBEr e, ()AL ()BLXM
FoS008 arendy HoTesieD. 113. How many triangles are there in the following

figure ?

1 " o
09. In a particular code language @ means 808 H80 S D) (BN G0N ?

‘greater than', # means 'less than', § means
‘not equal to' and % means ‘equal to. It is
given that Q@P, 3P% 2Q, Q3A, and Q%3R,

then
o4 €/ A @ wod > # @O < (1) 24 2))28-
§ @Ot #, % @O® =, (3) 36 32
Q@P, 3P% 2Q, QSR, 9% 3R eond 114. How many squares are there in the following
(1) 2R%P 2 PS 4R figure ?
(B “ROL P 1808 H606° I BB 0 7
110. In a particular code language, ‘lop eop aop "
fop' means ‘Doctors are above laws', ‘fop cop
bop gop' means ' Books were above fable’,
‘aop dop uop gop’ means ’ Doctaors stopped
reading books' and ‘cop jop eop uop' means
* Reading maps were laws’. In the same way
‘Books are reading laws' means
2,8 \DBEDS 8 7S lop eop aop fop' (1) 32 %6
ot 'wib) 8b J8fe R, ® ‘fop cop (3) 24 30
h“; gD SO 208 &8 ag.:s ﬁmg 115. In certain coding method, the word
©d, ‘aop dop uop gop' &0 &E8) QUESTION is encoded as RTGQWFSJ,
Fob 8801 208Y @), ‘cop jop eop uop’ what is the code word for the word
0% ‘BAOR JrH) $B6 e’ wond b RESPONSE ?
rads ) e 680F o ©o® 2,8 AR HGHE QUESTION 0B SR
............... RTGQWFSJ ™ §6 TR, RESPONSE &
(1) ‘oup cop lop aop’ AR der 56 B ?
(2). ‘op bop eoptiop SDUNRKWA  (2) SUDRNKAW
6 bop cop Uop eop SUDKNRAW  (4) SDVNKRWA
lop gop eop uop’
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116. Each of the following questions comprise of a

statement and two Conclusions | and |l
Choose the correct alternative from the given
options.

Statement : A boss asked three managers to
either submit their resignations by the next
day or face termination orders from service.
Two of them had submitted their resignations
by that evening.

Concluslons :

I The next day, third manager would also
resign.

Il. The boss would terminate his services
next day,

(1) Either | or Il follows.

(2) Neither I nor Il follows.

{(3) Only conclusion | follows.

(4) Only conclusion Il follows.

8ot adyS (HHS af |HE&S, Bod

SoUTen G0N, BN SR

RBA DB CirR)) &Sl

RELS : 2.8 whFE sShaTd BT

Sfhd DHT=20D ocdodr Jaired

I8 alyiosS Lod AAIJHSW

adhsen  ©@odFIed  SNos

Taryh, 8 Bz SaboEdd oo

AP TrTriren D80T,

Sovaren

I el 8o Surds DT=b sroe
OB T Tarch.

I. ©650 B8 s @8y
S50 Hod Fofard.

@ 180 I 80780 @H08:008.
@ LI Soaren ed080t5,
(3) 180780 Sr{essh @H8000,
(4) 11 80780 SHéah @080,
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117. Each of the following questions comprise of a

statement and two Courses of action | and Il
Choose the correct alternative from the given
options,

Statement : The availability of imported fruits
has increased in the indigenous market and
so the demand for indigenous fruits has been
decreased.

Courses of Action :

l. To help the Indigenous producers of
fruits, the government should impose
high import duty on these fruits, even if
these are not good quality.

Il.  The fruit vendors should stop selling
imported fruits so that the demand for
indigenous fruits would be increased.

(1) Neither | nor Il follow

(2) Bothland Il follow

(3) Only | follows

{(4) Only Il follows

S0t @l DS a8 |HE&S, Dok

BEsen 1, I a) 0w, D) JSreas’

R0 Q&) SR EfSod.

(DELS : TIAH Sr0S0S AhdHa

DeBd) DHod ez D8R, Thah

D05 Asros éhod,

SSgen :

I B700 e )8 ohesh HIFahdseo
§55, ©d HoD Hod D esd
(Dghéd o e Obd o)
D80S DB oD,

1. Do wfomdhen  Ohdd
T80 DO @80
QAOBIADo S0 BcHh Hods
Saaroh iheod,

(1) LI e @S538005:9.
(2) LI e eochdHdarow.
(3) 135D e@He0b.

T S8 T @%38:08.
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11B. Each of the following questions comprise of &
statement and two Conclusions | and Il.
Choose the correct alternative from the given
options.

Statement : Whenever there is a maich
between India and Pakistan, Mr. Acharyulu
takes leave from his office. Mr. Acharyulu is
in office today.

Conclusions :

. There is no match between India and
Pakistan today.

Mr. Acharyulu always goes to his office
except on India-Pakistan match days.
(1) Either | or |l follows.
(2)
(3)
(4)
808 @Dy 1H¥1S 2.8 (HELS, Dodd
Soyren aoon. a0 direed
2B S DHErgeir) air) &ffdod.
9EEdS @ 2rS, PErA O] ey
Bl 200 eordien shHd e
e, sorden & 82 ahid
G0 (.

Naeither | nor Il follows.
Only conclusion | follows.

Only conclusion |l follows.

SoeEren
78S, FETSe g & B wd
B,y

PEE iTrae QG; @t 2000
Faren DI wordgen Oz
shb .

(1) 18z 1 8070 @DHBR0A.

I

(2) LI Soaren eS80,
1 &0780 ST ©006008.
(4) 1 80950 Sr|esh ©doN0d.
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119. Each of the following questions comprise of a
statement and two Conclusions | and Il
Choose the correct alternative from the given
options.

Statement : Parents have prepared to pay
any price for an elite education to their
children.

Conclusions :
. All parents these days are very well off,

Il. Parents have an obsessive passion fora

perfect development of their children
through good education.

Either | or |l follows.

Meither | nor |l follows.

Only conclusion | follows.

Only conclusion 1l follows.

8o @Dy DS 28 (HES, Tod
SO aren Gar) 0. 'O s3roerd
DD ey air) Sfbob.

LN $Odoheny T6 VO
@edsd DS DOy FoH Jod OO
' BOoNEIET DO &
Borren
L &8z 3OS0 heoddr ediod
Gdssoeen,

I S0d 8y orio T8 YO

Ho5rdor  @dS5y0 TArod)
0% $OSohed HE HAFd.

(1) 18 1 807180 @HHON0.

@) 11 Sopared d000tIs).

@) 180750 Sr@ah @hddnod.
11 807350 Sresd @HHoNod.
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Q.No. 120-124 : Read the following passage
carefully and answer the questions given
below,

The world is now warmer than at almost any time
since the end of the last ice age and, on prasent
trends, will continue to reach a record high for the
entire period since the dawn of civilisation, a study
has found., The study published in the journal
“Science”, aims to give a global overview of Earth's
ternperatures over the past Eleven thousand three
hundred years - a relatively balmy period known as
the Holocene that began after the last major ice age
ended and encompasses all of recorded human
clvilization. Their data (compiled by studying such
things as ice cores, fossils and ocean sediments)
looked back over a much longer era than pravious
research, which went back 1,500 years.

Scientists say it is further evidence that madern-day
global warming isn't natural, but the result of rising
carbon dioxide emissions that have rapidly grown
since the Industrial Revolution began roughly Two
hundred and fifty years ago. Scientists say that if
natural factors were still governing the climate, the
Northern Hemisphere would prabably be destined to
freeze over again in several thousand years.
Instead, scientists believe the enormous increase in
greenhouse gases caused by industrialization will
almost certainly prevent that,

Shaun Marcott, a geologist at Oregon State
University, says “global temperatures are warmer
than about 75 percent of anything we've seen over
the last Eleven thousand years or s0." The other way
to look at that is, 25 percent of the time since the last
ice age, it's been warmer than now, I's taken just
hundred years for the average temperature to
change by 1.3 degrees, when it took 5,000 years to
do that before. By the end of the century, climate
warming models predict an additional increase of 2
to 11.5 degrees, due to large quantities of carbon
emissions, the study noted.

40318 23

120. When did the Holocene begin ?
" @ After the major lce Age

(2) Before the major Ice Age

(3) Before the Industrial Revalution

(4) After the Industrial Revolution
121, Additional increase of temperatures is due to
(1) ice age
(2) hydrogen emissions
@ carbon emissions
{4) fossils
122. What was the data for the research study
based on 7
(1)

Mumber of storms and ocean currents,

(2) A global overview of earth's ,
°  temperature. ;
(3) Records of temperature in the northern ;
Hemisphera. '
Analysis of ice cores, fossils and ocean "
sediments.

123. The earth’s temperature has increased
quickly since

(1) The Morthern hemisphere
2} 1500 years ago
(3) The Holocens

The Industrial revolution

In 100 years, what Is the change in the
average temperature ?

(1) 2degrees (2) 11.5 degrees

(3) 11.3 degrees 1.2 degrees

Series-C
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Q.No, 125 to 122 : Read the following passage
carefully and answer the questions given below.
Unveiling a mini-Budget of sorts in the middle of the

financial year, the Goods and Services Tax Council
has announced a raduction in the tax rates for over
eighty five goods. The applicable indirect tax rates
on consumer durables such as television sets,
washing machines and refrigerators, along with a
dozen other products, have been slashed from
twenty-eight per cent to eighteen per cent. The tax
rate on environmentally friendly fuel cell vehicles
has been reduced from twenty-eight per cent to
twelve per cent, and the compensation cess levied
on them dropped. This leaves just about thirty-five
products, including tobacco, automobiles and
cement, in the highest tax slab of the GST structure.
Rakhis without semi-precicus stones, as well as
sanitary napkings that attracted twelve per cent GST,
have been exempted from the tax altogether.
Several other products have been placed in lower
tax slabs, including those from employment-
intensive sectors such as carpets and handicrafts,
On the services front, too, there are
important tweaks and  clarifications. Owerall,
industry and consumers may consider these rate
cuts, largely on products and services of mass use,
as a stimulus to drive consumption ahead of the
festive season, Whichever way one looks at it, the
GST Council's 28™ meeting has significantly altered
the course of the nearly 13-month-old tax regime.
The actual impact of these changes on product
prices and consumption demand will be visible
soon, but the government's confidence in such a
rate reduction gambit indicates it is now comfortable
with revanue yields from the GST.

Estimates of revenue losses from these rate cuts
vary widely, but it's too early to worry about the
impact on macro fiscal numbers. If implemented
well, the revenue lost could be offset by higher
consumption that may lead to more investments
over time. Moreover, improvements in compliance
can be expected from the Council's decision to
further simplify paperwork for small and medium

enterprises. But there are two major concerns. First,
40318

since the new rates are to kick in from July 27,
companies may not have enough time to rework
pricing strategies and replace existing market
inventory, failing which they could face anti-
profiteering action. Second, members of the Council
have for the first time questioned its functioning and
alleged that not all of the changes and rate cuts
were placed on the agenda. For a tricky tax that is
still & work in progress, distrust between the Centre
and the States would make further rationalisation
difficult. Such friction must be avoided in a system
in which the States have so far worked
in tandem with the Centre.

125. What makes further rationalisation of GST
system difficult 7
(1) Anti-profitesring action
(2} Lack of compliance
Distrust between the Centre and the
States
{4) Complexity in tax structure

126. What is the consequence of starting new

GST rates from July 27™ 7

(1) Reduced conflict between Centre and
State.
Companies may not have enough time
to rework pricing strategies.

{3) Revenue from the taxes will be
decreased.

(4) Simplified paperwork for small and
medium enterprises.

127. The Goods and Services Tax Council has
announced a reduction in the tax rates for
over goods.

(1) 28 g 32
(3) 33 85

128. The tax rate on environmentally friendly fuel
| vehicles has been reduced to
12% 2) 10%
(3) 28% (4) 18%

129. Which of the following goods are exempted
from GST ?
Sanitary napkins -
(2] Carpets
{3) Cement
(4) All Rakhis with precious stones
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Q.No. 130 to 134 : Read the following passage
carefully and answer the questions given below.

It should be remembered that the nationalist
movement in India, like all nationalist movemaeants,
was essentially a bourgeois movement. It represented
the natural historical stage of development, and to
consider it or to criticise it as a working-class
movement is wrong. Gandhi represented that
movement and the Indian masses in relation to that
movement to a supreme degree, and he became the
voice of Indian people to that extent. The main
contribution of Gandhi to Indla and the Indian masses
has been through the powerful movements which he
launched through the NMational Congress. Through
nation-wide action he sought to mould the millions,
and largely succeeded in doing so, and changing
them from a demoralised, timid and hopeless mass,
bullied and crushed by every dominant interest, and
incapable of resistance, into a people with self-respect
and self-reliance, resisting tyranny, and capable of
united action and sacrifice for a larger cause.

Gandhi made people think of palitical and economic
issues and every village and every bazaar hummed
with argument and debate on the new ideas and
hopes that filled the people. That was an amazing
psychological change. The time was ripe for it, of
course, and circumstances and world conditions
worked for this change. But a great leader is
necessary to take advantage of circumstances and
conditions. Gandhi was that leader, and he released
many of the bonds that imprisoned and disabled our
minds, and none of us who experienced it can ever
forget that great feeling of release and exhilaration
that came over the Indian people.

Gandhi has played a revolutionary role in India of the
greatest importance because he knew how to make
the most of the objective conditions and could reach
the heart of the masses, while groups with a more
advanced ideology functioned largely In the air
because they did not fit in with those conditions and
could therefore not evoke any substantial response
from the masses. It is perfectly true that Gandhi,
functioning in the nationalist plane, does not think in
terms of the conflict of classes, and tries to compose
their differences. But the action he has indulged and
taught the people has inevitably raised mass
consciousness tremendously and made social issues
vital. Gandhi and the Congress must be judged by the
policies they pursue and the action they indulge in.
But behind this, personality counts and colours those

policies and activities. In the case of very exceptional

40318 25

person like Gandhi the question of personality
becomes especially important in order to understand
and appraise him. To us he has represented the spirit
and honour of India, the yearning of her sorrowing
millions to be rid of their innumerable burdens, and an
insult to him by the British Government or others has
been an insult to India and her people.

130. Gandhi played a revolutionary role in India
because he could

(1) see the conflict of classes
(2) lead the Indian National Congress
(3) preach morality

reach the heart of Indians

131. Groups with advanced ideology functioned in
the air as they did not fit in with

(1) the class consciousness of the people
_(2) the differences among masses
objective conditions of masses
(4) the Gandhian ideology

132. Which one of the following is true of the given
passage 7
{1) The author is neutral on Gandhi's role in
India's freedom movement.

(2} It is an account of Indian Mational
Congress's support to the working-class
movemeant.

{3) The passage is a critique of Gandhi's
role  in Indian movement for
independence.

The passage hails the role of Gandhi in
India's freedom movement.

133. The change that the Gandhian movement
brolight among the Indian masses was

(1) Technological @Psycho!ogical'
(3) Physical {(4) Cultural

134, To consider the nationalist movement or to
criticise it as a working-class movement was
wrong because it was a

bourgeois movemeant

movement represented by Gandhi
(3} historical movement
(4) volce of the Indian people

Series=C

e e e

F


suryaedu
Oval

suryaedu
Oval

suryaedu
Oval

suryaedu
Oval

suryaedu
Oval


135.

®

136.

137.
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Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The Centre has since issued rules for
conservation and management, and
chosen 115 water bodies in 24 States for
protection support, but this is obviously
too little.

B. Loss of natural wetlands is an ongoing
catastrophe in India.

C. A decade ago, when the Salim Ali
Centre for Ornithology and Natural
History released a conservation atlas for
all States using space applications.

D. Moreover, research studies show that

the concentration of heavy metals in
such sites s leading to bioaccumulation,
thus entering the plants and animals that
ultimately form part of people’s food.
E. It reported the tragic fact that 38% of
wetlands had already been lost
nationally; and shockingly, in some
districts only 12% survived.
CBADE -(2) CABED
BECAD (4) BCEAD

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Bolder isn't always better, howevar.

B. Red, orange and purple are vibrant
colours with energising effects to
counter the blues.

C. The eye must catch it, look at it and
study it.
D. Too much colour can be overwhelming

to some people.

E. So, if not the change of paints, go for a
bright-coloured table-cloth instead.
BECAD (2) ABDEC
ABCED (4) BACED

Find out the proper seguence of the following

sentences to form a meaningful paragraph.

A. ‘'Safety first’ is the last concern of Indian
road users who think they are like the
proverbial cat with nine lives.

B. Perhaps our numerous engineering
colleges and technical institutes can
think of such projects.

C. It should be made mandatory to have
rumble strips or speed bumps on either
side of such crossings.

D. In order to minimise accidents,

E. Powerful blink lights and loud hooters
that can be activated just before a train

crosses should be thought of.
(1) ADBCE ADCEB
(3) AEBDC DECBA

138,

138. Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. This sector employs 42.5 lakh Indians
directly, and has created over twice as
many jobs indirectly in other fields.

B. Automation would then replace entry-

level jobs, denying jobs to college-

leavers, and lead to the retrenchment of
mid-level professionals who couldn't
remain relevant via constant reskilling.

The landscape of the $150-billion IT

sector, one of India's largest job-

providers, is changing fast, owing to
technological advances in automation
and robotics.

D. Butitis gradually moving away from the
linear growth model, with rise in revenue
matching net employee addition, to a
non-linear one where income growth is
independent of additional hiring.

(1) BADC CADB

{3) CDBA {4) ABDC

Find out the proper sequence of the following

sentences to farm a meaningful paragraph.

A. By this measure, a poor Indian farmer
with little debt and little assets can end
up “richer” than a Wall Street banker with
little assets and a large student loan.

B. In 2015, when the report was issued,
there was criticism of the report's
methodology.

C. Inlindia, as perthat report, things are just
as plain, as against the richest 1% of
Indians hold as much wealth as that held
by 58% of the Indian population.

D. The critics argued that the report

assumes wealth is assets minus debt.

E. From a recently released report by
Oxfam, the global charity organisation,
we learn that eight rich people own as
much wealth as half the world's
population in 2016.

F. These statistical Issues aside, what the
Oxfam report does show isn't
necessarily who is really poor in the
world but that wealth is a good proxy for
the ability to influence politics via
legislation or campaign contributions.

(1) EDBFAC EBDAFC

{3) BECDAF (4) BEDAFC
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140.

141.
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Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Morsover, salaries in public sector
enterprises are not as competitive as
those offered by private or foreign
corporate,

B. This trend should be a wake-up call for
stakeholders to  examine why
employees  are seeking  better
opportunities with private companies in
India and abroad.

C. Public Sector Enterprises (PSEs) have
been experiencing severe challenges in
attracting, motivating and retaining their
key staff,

D. Having identified these as the reasons
why employees leave PSEs, it is
important to empower stakeholders to
find ways to remedy the situation,

E. One reason is that young employees
lured away by private firms are more
willing to undertake professional risks.

F. Employees in specialist roles especially
have become increasingly difficult to

retain.
(1) FCBAED (2) FBCAED
(3) CBEFAD CFBEAD

Find out the proper sequence of the following
sentances to form a meaningful paragraph.

A. Japanese toys, for instance, are in great
demand despite the heavy import duty.

B.  The toys that they produce are, almost
without exception, of inferior quality.

C. Their manufacturers here need to be
raminded of this,

D. But making them is no child's play.
Toys are meant for children.

F.  Not surprisingly, many parents prefer to
buy the imported variety even though
these are usually much more expensive.

(1) ECBFAD EDCBFA

(3) ADBCEF (@ ABDFEC

m

142,

143.

144,

Find out the proper sequence of the following

sentences to form a meaningful paragraph,

A. That no amount of policing can solve the
issus.

B. The fact that the stadium was not full and
that touts outside were having a fieid day
shows

C. Itis odd that large sections of the media
did not report the black market in tickets
during the Royal Challengers

D. Bangalore-Chennai Super Kings IPL
match in Bengaluru,

E. Something that should have been taken

seriously,
(1) CDEBA (2) CADEB
(3) CEDBA (4)) CDBEA

Find out the proper sequence of the following

sentences to form a meaningful paragraph,

A. The percentage of population below
poverty line has been decreasing,

B. Therefore, it is a welcoms sign, but we
must guard against our escalating rate of
population growth,

C. Poverty alleviation is one of the most
significant programmes.

D. Although this change is slow and
gradual, it appears to be consistent.

E. The extent of success of this programme
can be sensed when we study the
proportion of people below poverty line.

(1) cbsea (2) ABDCE

(3) EDBCA (4) CBDEA

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Hence, the meal that is taken in the
morning is breakfast,

B. The word originated from the fact that
after dinner, we don't eat the whole night
and this is a long time for the body to go
without food.

C. During day time, we keep on eating and
munching after every 3-4 hours,

D. People often ask as to why breakfast is
impaortant,

E. But the duration between dinner and
breakfast is pretty long, sometimes may
be equivalent to a fast.

F.  The answer lies in the word 'breakfast’

Itseilf,
(1) CBEFDA {2) CDBEFA
DFECEA (4) DBEFCA
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145.

Each of the following questions comprise of a
statement and two Assumptions | and |l
Choose the correct alternative from the given
options.

Statement : It is desirable to put the child in
school at the age of 5 or so.

Assumptions :

| At that age the child reaches appropriate
level of development and is ready to learn.

Il The schools do not admit children after six
years of age.

(1) Either | or Il is implicit.

(2) Both | and Il are implicit,

(8) Only assumption | is implicit.

(4) Only assumption Il is implicit.

Sod DS (Do 2.8 (HELSD, Boch
&TOD 1, 11 ED8 sy on. §0dd 2d)d
DS OBS  HESr ey
EoffSod.

DE&S VO 5 HDoS yores
Sabdnys® eres Tojosdo
Forsaaho,

graScden :

L 8 S0y dosd 5803508
©DS5HQ Tod, FKHFIE vdomr
(- ToTAle

I e Jods)oren s oo,
arETeen S8,

(1) 1375 B 127858 DD JoTF o,
(2) I27a5ed BTN 2SS A YOTETFRSD.

@ 1788 SMeTh DO I0TL D6,
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(4) 1 2rsd Sr@dsd ARYOFTDIA.

146. The following question consists of a

statement followed by two arguments | and |1,
Choose the correct alternative from the given
options.

Statement : Should the strikes be banned
legally in India ?

Arguments :

I Yes. Because strikes hamper production
and create artificial scarcity of essential
goods.

Il No. Because the workers will lose the right
of expression and would be subjected to
managerial debates.

(1) Either | or Il is strong.

(2) Both | and Il are strong.

(3) Only argument | is strong.

(4) Only argument Il is strong.

S0 NS DS 28 1HELS, Bod

TES, I, I @aow.  ad)s

DS BSOS (HEsryoird)

EFdod.

[DEereS rés Do  HFo
Nudowd.

I ¢Saden :

L @) JohEo®, STen dréd 1B
B8R, ATLSH0 SIe @
TSR Symarow.,

I 5. Jochsod, 5850w Ss8o T
TR FSHado Sod, dorsrs
S| BvEr e adihErow.

(1) TGS B 11 SS 2oP0d.
(2) 11 rdaien 2.

@ 13¢5 AP (hadh 2o Tod.
(4) I S Sr(edsdh 220Tod.
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147.

Each of the following questions comprise of a
statement and two Assumptions | and |l
Choose the correct alternative from the given
options.

Statement: In the last year, Osmania
University has launched a number of
innovative courses for the better future of its
students,

Assumptions :
L. These courses may attract students,

Il.  Osmania University Is conscious about
the future of students.

(1) Either | or Il is implicit,

(2) Both | and Il are implicit.

{3) Only assumption | is implicit.

(4) Only assumption Il is implicit.
Sodd =S (Hfew 2. (DEES,
toth dredd I, 1 XA G0 o).
508 adyd  dsroed 958
(D& ASr) EOFSoA,

(DEeS : Hes QoSS 60 AT
¥ ST s cho, DT SRS
BA2H 00 SN reses T
B39 D808,

aFadeden :

L & 8% dorptherds eE0aran.

L &l I Do gecho, dorghe
PAA5E) HOOD D395 EOR w0,

(1) 12755 S 1 27868 AR YOTT S,

12) 1273565 000 I 2758 0, 0T o,

(3) 13755 SrebSh AN BT DA,

11273 SrS D DD 0T IA,
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148. Each of the following questions comprise of a

statement and two Assumptions | and |l
Choose the correct alternative from the given
options,

Statement : Training must be given to all the
employees for increasing productivity and
profitability,

Assumptions :

I Training is an essential component of
productivity.

ll.  Profitability and productivity are
supplementary to each other.

(1) Either I or Il is implicit.

(2) Bothland |l are implicit.

(3) Only assumption | is implicit.

(4) Only assumption Il is implicit,

S0 DS (HFen 2,8 (D5, Bodh
O I, 1T $OA &) on. 8o =l RTN)
[ I/ (HEsrycied)
EofSod.

DFLS 1 g ysEs, erdicraiged
DoTrododdo T8 &&iheossed

5.0 DD Sor s,

graSeden :

L o= dh8s8%H e EVDART Tolyy
B8N wodo,

I o iEes, erdicrgaied 2.8

TS e H2208ID,
(1) 1275 Sl arsd IR JOTT I,

(2) Tarased 0Bk I 2rased %) OB R0edR.

@ [27568 S D J0HF DA,
(4) 1137a5ed S A0 0T Dso.
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k.

149, Each of the following questions comprise of a

staternent and two Courses of action | and Il
Choose the correct alternative from the given

150. Each of the following questions comprise of a

statement and two Courses of action | and II.
Choose the correct alternative from the given

options. options,

Statement : There are more than 200

a railway level crossing fifty people died when villages in the hill area of Bihar which are

a bus carrying them collided with a running severely damaged due to cyclone and it
train. caused a burden on rehabilitation work.

Statement : In one of the worst accidents on

Courses of Action : Courses of Action :

People of hill area should be shifted to other
safer places.

I.  The train driver should be immediately l.

suspended for negligence on his part.
Il. The driver of the bus should be punished l. State Government should ask for more
financial support from Central
Government.

for negligence on his part.
(1) Neither | nor Il follow
“(2) Bothland Il follow
{(3) Only | follows
(4) Only Il follows
Bod @S DS 28 1HELS, Do
S&gen 1, I o, A0S sarerrd
DD |HE 5Ty AIr) Eofdod.
HEeS : BB (TR0 @ 2000 2.8
08508 ¢ HIrS0S, (HATEVDY
Bend ad) & Fddo S0, 23S

(1) Neither | nor |l follow

(2) Both | and Il follow

{3) Only | follows

(4) Only |l follows

8o @DS NS 28 (HELS, Dol

Sdgen 1, I a0, DI sarosS
DD (DErgesr) cird) Eaffs0b.

HEeS : HIBSR Fodh iSrogosS 200
g0ty J%0S (Miren diard SOROT
SHgor Bo)dsso So8 PICTO

DAYy 50 0k Selomrd.
gEEdreR grdo B0,
i gen:
Sogen:
L & DS DL 0 Sarododsy
S [BIBD SE80 ) L Fod [rod Haod asd bel-2
Sromed $8doTd.
I &8 NG APE50 SrodSotsy Y
A ) I oln DHsso, Sod DR

LBos wdE HFoho Sod,
(1) LI e @S0y,
@) L1 en ehdoTow.

(1) LI en @ddd0wsy.
(2) 1,1 en @i ow.
3) 1 Srhab edndod.

Bl VO @) 137 ©008%08. -

I &7ledah @H0od.
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